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A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
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BG251-3A_1 BG251-4A_1
X,=85,99.Y,~8858.2,792,64 B, X,=85,99Y,~8858.2,~9264 B,
%y=0,3218y,,=0,3315 " 240 Xy=0,3218y,,=0,3315 " 240
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
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X,=85,99Y,~8858.2,792.64 B, X,=85,99Y,~88,58.2,~92,64 B,
%y=0,3218y,,=0,3315 " 240 Xy=0,3218y,,=0,3315 " 240
As= (a5~ asp) Y1g (Y/Y18)1/3 As= (@5~ Y18 (Y/Y13)1/3
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515 %20 505 OstwaldFarben (o), Y\\~=88,6
7 M, max (m) Buntwert, P55
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xw=0,3321y,,=0,3407 +40 Xw=0,3321y,,=0,3407 40

A= (@1 - ay ) Yig (VY193
B1=(1-byp) Yig (YIY;9 13
ay = ayo [(x-0,17D/y] i
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Buptheit¢h (A*,, B*,) Buntheiten (A*,, B*,)
BG251-3A_1 BG251-4A_1
X,=86,33Y,,~8859.2,78503 B, X,=86,33 Y,~88,59.2,~8503 B,
Xw=0,3321y,,=0,3407 210 Xy=0,3321y,,=0,3407 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
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BG251-5A_1 BG251-6A_1
X,~86,33Y,,~8859.2,78503 B, X,=86,33 Y,~88,59.2,~8503 B,
¥w=0,3321y,,=0,3407 410 Xy=0,3321y,,=0,3407 240
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (05— bs ) Y18 (Y/Y19) Bg = (b5 — s 1) Y18 (Y/Y19)
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520 oo OstwaldFarben (o), Y\\~=88,6
7M., max (m) Buntwert, P50
migsger Normfarbtafel (x, y)
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X,=86,92Y,~8859.2,/76,63 B, X,=86,92Y,~88,59,2,~7663 B,
Xw=0,3447y,,=0,3513 240 Xy=0,3447y,,=0,3513 240

A= (@1 - ay ) Yig (VY193
B1=(1-byp) Yig (YIY;9 13
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X,=86,92Y,~8859.2,/76,63 B, X=86,92Y,~88,59.2,~7663 B,
X,03447%,703513 240 X"03447%,703513 240
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + a =2y [(x-0,171/y] 4
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515 520 505 OstwaldFarben (o), Y\\~=88,6 X,~=87,88,Y,,~88,59,7,,=67,39 BD
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Xy=0,3603y,,=0,3632 20 X=0,3603y,,=0,3632 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (b3~ bs ) Y15 (/Y1913 By = (b — by Yig (VY1913
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
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X,=87,88,Y,,~8859.2,767,39 B, X,=87,88,Y,~88,592,=67,39 B,
Xy=0,3603y,,=0,3632 240 Xy=0,3603y,,=0,3632 240
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%y=0,3799y,,=0,3764 240 Xy=0,3799y,,=0,3764 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
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Xw=0,3799y,,=0,3764 +40 Xw=0,3799y,,~0,3764 +40
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + a =2y [(x-0,171/y] 4
b3=byg [(Mp1x+bp1)/y] a5 bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 6o |73 a50= 1, byg= -0,4 69 |73
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BG251-5A_1 BG251-6A_1
X, =89,41Y,~8859.2,757,30 B, X4=89,41Y,~8859,7,757,30 B,
%y=0,3799y,,=0,3764 410 Xy=0,3799y,,=0,3764 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] a8 bg=bao [(Mp1x+0p1)/y] a8
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55 52 525 OstwaldFarben (o), Y\\~=88,6 Xw=91,83,Y,,~88,59,7,,=46,45 BD
08 17 M,,max (m) Buntwert, P35 X=0,4047y,,=0,3904 L0
)51310 0 |25%er Normfarbtafel (x, y) Ag=(@g-29,) Yig (y/ym)i;a
p Bo = (b ~ bo,) Yag (Y/Y19)1/3
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BG251-1A_1 BG251-2A_1
X,=91,83,Y,,~8859,2,746.45 B, X,=91,83)Y,~88,592,=4645 B,
%y=0,4047y,,=0,3904 240 Xw=0,4047y,,=0,3904 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ag = a0 [(x-0,179] 4 2y = a0 [(x=0,17D/y] 4
by =byo [ZA 75 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 64 39 ay=1, byp=-0,4 64
mr1=1,000,b,=0,171 L 997> 9 As Mp1=-0,169,bp1=0,389 2 39 A
f t t b
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Os arben (o), Y{y=88,6 OstwaldFarben (0), Y,~88,6
mak (m) ert, P35 max (m) Buntwert, P35 40
Buritheitén (A*;, B*,) Buntheiten (A*,, B*,)
BG251-3A_1 BG251-4A_1
X,=91,83,Y,~8859,2,746,45 B, X=91,83)Y,~88,592,=4645 B,
%y=0,4047y,,=0,3904 20 Xy=0,4047y,,=0,3904 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] 4 a =2y [(x-0,171/y] 4
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byg=-0,4 75 39 ay=1, byp=-0,4 64
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Buntheitén (A*5, B*3) Buntheitén (A*4, B*4)
BG251-5A_1 BG251-6A_1
X,=91,83,Y,,~8859,2,~4645 B, X=91,83)Y,~88,592,=4645 B
%y=0,4047y,,=0,3904 240 Xy=0,4047y,,=0,3904 240
As= (@5~ as) Yig <Y/Y18>ig A6 = (@~ a6,) Y1 (Y/Ym)ig
Bg = (b5 — b5 ) Y15 (Y/Y19) Bg = (b6 — g ) Y15 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byg=-0,4 75 39 ay=1, byp=-0,4 75 39
Mp1=—0,974 by, =0,65! og As Mp1=-0,974 b;=0,658 od As
n=P35 n= P35
A 40 40
L 13
Ostwaldfarben (o), Yy\~=88,6 OstwaldFarben (o), Y,~88,6
max (m)PBuhbvert, P35 max (m) Buntwert, P35 -40
Buntheitén (A*s, B*5) Buntheiten (A*g, B*g)

BG251-7A_1

BG251-8A_1




55 52 525 OstwaldFarben (o), Y\\~=88,6 Xw=95,71,Y,,~88,59,7,,=35,03 BD
0,8 1/ Mm_max (m) Buntwert, P30 X=0,4363y,,=0,4038 +40
)51310 ¢ |25%er Normfarbtafel (x, y) Ao=(ao-2g,) Yis (y/ym)i;a
N Bo = (bp ~bg) Y15 (Y/Y19)1/3
29 =ago [x/y] +
by = bao [2/4]
80=1, by =-0,4 59 [I7 39 A
0
. . . N
¥} n=P30 —40 ) 37 40
\ 625
> 70
9%95¢,E
N+
' CIE 1931 X Ostwaldfarben (o), Y~88,6
0 max (m)Buhbvert, P30
0,0 0,2 04 0,6 0,8 1,0 Buntheitén (A*o, B*o)
BG251-1A_1 BG251-2A_1
Xu=95,71Y,~8859.2,73503 B, X4=95,71Y,~88,59,2,~3503 B,
%y =0,4363y,,=0,4038 240 Xy=0,4363y,,=0,4038 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
30=1, byo=-0,4 59 |77 39 80=1, by=-0,4 59
Mr1=1,000b73=0,171 : : N Mpr=-0,169,bp;=0.389 739 A
n = P30 —40 ! 37Q " 40 n = P30 _40 4 37 40
& 9 bex 29
h ] 1
Ostwaldfarben (o), Yyy~=88,6 OstwaldFarben (0), Y,~88,6
max (m)Buhbvert, P30 max (m) Buntwert, P30 r—40
Buntheitén (A*;, B*,) Buntheiten (A*,, B*,)
BG251-3A_1 BG251-4A_1
Xu=95,71Y,~8859.2,73508 B, X4=95,71Y,~88,59.2,~3503 B,
%y=0,4363y,,=0,4038 240 Xy=0,4363y,,=0,4038 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
80=1, byp=-04 77 39 =1, by=-04 59
Mp1=—0,974,b,=0,658 59 As Mpy=-0,169,bp;=0,389 7 39 As
n=P30 9 40 n = P30 -40 37 40
il 29
Ostwaldfarben (o), Yy\~=88,6 OstwaldHarben (0), Y,~88,6
max (m)Buhbvert, P30 max (m)Buhbvert, P30
Buntheitén (A*5, B*3) Buntheitén (A*4, B*4)
BG251-5A_1 BG251-6A_1
X,=95,71Y,~8859.2,73508 B, X4=95,71Y,~88,59.2,~3503 B,
%y=0,4363y,,=0,4038 240 Xy=0,4363y,,=0,4038 240
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay =1, byy=-0,4 77 39 ay=1,by=-04 7 39
Mp1=-0,974 bp;=0,65! 59 As Mp1=-0,974 bp,=0,658 59 As
n=P30 9 40 n=P30 9 40

OstwaldH
max (m)7]

arben (0), Y{,=88,6
Bufi@vert, P30

Buntheité

n (A%, B*e)

OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P30
Buntheiten (A*g, B*¢)

BG251-7A_1

BG251-8A_1




515 520 525 OstwaldFarben (o), Y\\~=88,6 Xy=102,04.,,-88,59,7,,=23,56 BD
08 17 M,max (m) Buntwert, P25 Xw=0,4764y,,=0,4136 +40
)51310 0 |25%er Normfarbtafel (x, y) Ag=(@g-29,) Yig (y/ym)i;a
\ Bo = (bp ~bg) Y15 (Y/Y19)1/3
29 =ago [x/y] +
by = bao [2/4]
ay =1, byp=-0,4
54 P14 Ao
n=P25 —40 39 40
P 625 L
G50l
' 7
' CIE 1931 X Ostwaldfarben (o), Y\\~88,6
0 max (m)Buhbvert, P25
00 “®2 04 06 08 10 Buntheiten (A%, B*g)
BG251-1A_1 BG251-2A_1
X,=102,04Y,=88592,~2356 B, X,=102,04Y,,88,59.2,~2356 B,
%y =0,4764y,,=0,4136 Lo Xy=0,4764y,,=0,4136 E
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ax=1, byy= 0,4 s Bl o ax0= 1, byo= ~0.4 "
mr1=1,000, Ay Mp1=-0,169 bp;=0,389 2 1 4 A
n=P25 39 n=P25 - 39
] 40 40 4%; > 40
Ostwaldfarben (o), Yy~=88,6 OstwaldFarben (0), Y,~88,6
max (m)Buhbvert, P25 max (m) Buntwert, P25 r—40
Buntheitén (A*;, B*,) Buntheiten (A*,, B*,)
BG251-3A_1 BG251-4A_1
X,=102,04Y,=88592,~2356 B, X,=102,04Y,,88592,~2356 B,
Xy=0,4764y,,=0,4136 40 X=0,4764y,,~0,4136 +40
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
By = (b3 ~ by Yg (YY1 13 B4 = (g = by,p) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
30=1, by=-0,4 g1 4l 80=1, by=-0,4 4
Mp1=-0,974,b,=0,658 54 As Mp1=-0,169 bp;=0,389 e Bl a1 As
n=P25 34 40 n=P25 -40 Ea 40
7 34
7
Ostwaldfarben (o), Yy\~=88,6 OstwaldHarben (0), Y,~88,6
max (m)Ppufhbrert, P25 max (m)Puhbvert, P25
Buntheitén (A*5, B*3) Buntheitén (A*4, B*4)
BG251-5A_1 BG251-6A_1
X,=102,04Y,=88592,~2356 B, X,=102,04Y,,8859.2,~2356 B,
X, =0,4764y,,=0,4136 +40 X=0,4764y,,~0,4136 +40
As= (@5~ as) Yig <Y/Y18>ig A6 = (@~ a6,) Y1 (Y/Ym)ig
Bg = (b5 — b5 ) Y15 (Y/Y19) Bg = (b6 — g ) Y15 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
30=1, by=-0,4 g1 41 80=1, by=-0,4 by 41
Mp1=-0,974,b;=0,65 As Mp1=-0,974 b,,=0,658 54 As
n=P25 34 40 n=P25 4 40

Ostwaldfarben (o), Y\y~=88,6
max (m)Buhbvert, P25
Buntheiteén (A*g, B*5)

OstwaldFarben (o), Y,~88,6

max (m) Buntwert, P25
Buntheiten (A*g, B*g)

BG251-7A_1

BG251-8A_1




